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M Z=ol=x s
M HYRAZH(FLU=X1)
=91: Jl=3dl (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 10,730 11,200 A470
01 At2teltl 8,730 9,200 A470
O «et+=EH| 4,230,000& 4,230
O =4 4,500, 0002 x4 2 *25% 4,500
02 S3=gHl 2,000 2,000 0
02223 YL +42 S
2,000,000 2,000
202 04l 6,300 7,000 AT700
01 2LHoIH 6,300 7,000 AT700
O g2=d ol 6,300,000& 6,300
Hees(Fe=x) 1,176,960 676,652 500,308
WEHAHRIE(FLI=SX1L) 1,176,960 676,652 500,308
LHEHHRIE(F2I=X1 1) 1,176,960 676,652 500,308
701 JIEtsI HSHES 676,960 676,652 308
01 DIl AN ES 676,960 676,652 308
O d230SYE #53
676,960,000 676,960
(VAP TSE= 500,000 500,000
01 JIsdES 500,000 500,000
O ZEPIYZESIATANAIIZ &5
= 500,000,000 500,000
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